College Algebra Exam 3 Forms A, B  Dr. Rapalje
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COUEGE ALGEBRA Exam 3A Solubions
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COLLEGE ALGEBRA EXAM 3 B R} NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE PERMITTED ON THIS TEST.

1. Solve the systems of equations:
a) 77X + 5Y = -4 b) Y=2Xx -9
10X - 3Y = 45 5X - 3Y = 14
2. Solve the system: 3. Solve the system:
2X - 5Y + 4Z = -35 X - Y = 1
5X + 3Y - Z = 1 Y -2 = 6
X+ Y+ Z = 1 X + Z = -1
4. Solve the system: S. Solve the system:
x* + vl = 50 XY = 14
Y = 2X + 5 2X - Y = 3
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6. Evaluate the determinants:
6 -2 -3 5
SO K B

\

7. Evaluate the determinant:

6 -4 -5
2 7 -3
0 -9 8
8. Solve by Cramer’s Rule: 9. Graph the intersection:
2X - Y = 5 X220
X + 2Y = 25 2X - 3Y 12

2
7X + 4Y = 28

10. Find the equation whose roots 11. S?lve or X:
are: X = -3 % 5i X+ 2X" -5 -6 =0
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14.

12. Sketch th

f graph of
Y = (X-4)'(

The sum of two numbers is 18.
Three times the first number
plus twice the second number
is 32. Find the numbers.

13.
X+3)4(X-2) (x+1)?

Ske%ch the graph of
Y = X - 13X + 12

15. Eight hamburgers and six drinks
cost $21.50. 1If three burgers
and seven drinks cost $14.00,

find the cost of each burger
and drink.
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Covtece AlLGeErA Exam 38 Solulims
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Dr. Robert J. Rapalje

More FREE help available from my website at www.mathinlivingcolorl.com

ANSWERS TO ALL EXERCISES ARE INCLUDED AT THE END OF THIS PCE





